s = 'Don Quijote’
s[4] # Get the 5th character

IQI



s = 'Don Quijote’

s[-1]
|e|
S[-7]
|Q|



s = 'Don Quijote’
s[4:8]

'QUij'



s = 'Don Quijote’

s[4:]

'‘Quijote’ #Returns from pos 4 to the end of the string
s[:4]

'‘Don’ # Returns from the beginning to pos 3

s[:]

'Don Quijote'



s = 'Don Quijote’

s[6]

|
s[:6] + s[6:]
'Don Quijote'



alpha = "abcdefghijklmnopqgrstuvwxyz“



shift = alpha[-dist:] + alpha[0:-dist]



for var in x:
ans += shift[alpha.find(var)]



alpha = "abcdefghijklmnopgrstuvwxyz”

shift = alpha[-dist:] + alpha[0:-dist]

e

dns =

for var in x:
ans += shift[alpha.find(var)]



